Section 3 Session Lk

ANSWER 3 14 divided by 2?

(«i?j 6 (:fj 6 k100 shared by 10?

5 5 lots of 6?

1 Lx2 = 7 x5 =25
2 Lix5 = 8 x 10 =90
30 kx10 = 8 -2 =5
10 +5 =1
ANSWER
How many?
L 6x5 = 1 5 bowls of 5 apples.
5 8x10 = 2 80 doughnuts put into
10 boxes.
6 12+2 =
3 15 jellies shared between
7 LO =5 i 5 bowls.
'8 5010 & L 6 boxes of 2 lightbulbs.
Q9 16 =2 - 5 10 boxes of 5 notebooks.
10 35-+5 L 6 9 boxes of 10 pencils.
7 50 toffees put into 5 bags.
| B | £y ANSWER
: 8 20 books put into 2 piles.
What is
1 L5 divided by 5? Q 20 glasses put on to 5 shelves.
2 L multiplied by 5? 10 20 spades put into 10 buckets.




